. What are Shared Locks ? Explain two phase
locking.
Shared Locks 1 § ? T &S W7 ! THEST |

. Explain the client server technology in terms of
DBMS.

FAES o ARl sl DBMS & Ty # 9HeEy |

. Explain the concept of DDL and DML commands
in DBMS.

A TE § S uE G SuHTd. wHE &
SATYRON i AR HITIT |

. Discuss the main characteristics of the database

approach and how it differs from traditional file
systems.

TREY gfew ® ged fowemei | == iy ik
Ig IRaE wEa faeq 4 &9 = § 2

. What is Transaction ? Explain the various stages
of transaction in detail.

TR T 7 TR & fafy= =o a fosar |
HHART |

. What is the role of Data Warehouse ? Give the

difference between Database and Data Warehouse.

TR JRERY ® YR ¥ 7 TeEE R TwE
FIERE F A" TR |
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Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.

Feer - I ywA-m o1’ o ‘T ) wvEl 7 fawifsa §1 v
Trg & FEIER g9 & WS

Section-A 4x1%=17
(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of
the question, delimit your answer in one word,
one sentence or maximum up to 30 words. Each

question carries 1% marks.
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(ii)

(iii)
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[US—3A
(afa oy ST uv)
frdl o gvel & SW AN e AT WA

TAHAR T I, T a9 a1 Afushas 30 =g |
qfidifqa w9 999 1% 37 & B

Give the definition of DBMS.
DBMS &1 gy gtfea |

Compare data with information. Also explain
with an example.

THHYE I qoT ST ¥ Hifew | IR0 fed
HHEART |
What is the Primary Key ?

Primary Key &1 § ?
What is a Normalization ?
Normalization =1 & ?

Give any rwo differences between Atomicity
and Isolation.

A R EERNE & dfF g & AW
AR

Why is an ER diagram needed ?

ER diagram &t STavaehdl i § ?
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(vil) Give an example of equi-join.
Al-SHlE AT T S i

(viii) What is the full form of OLAP ?
OLAP &1 qui ®9 &1 & ?

Section-B 4x12=48

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 12 marks.

GUS—d
(T ST q9)

o - o=l = 9w & SW AfSu) 39 etue STl
srfereras 200 gl W 9fEfqa wifSw) s 999

12 3Rt T T

. What do you mean by RDBMS ? Discuss the

various models related to it.

RSN THTE. T 39 F1 THe § 2 TEH Gefud
fafs= dOtea =t ==t Sifew)

. Discuss the various set operations in SQL with

examples.

SQL # fafe= 92 Simyrg W St |fgd ==t Hife |
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